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> d <- read.csv("datada.csv")

or

> d <- read.csv(
+ "http://hosho.ees.hokudai.ac.jp/ kubo/stat/2014/Fig/binomial/datada.csv")
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> summary (d)

N y
Min. :8 Min. :0
1st Qu.:8 1st Qu.:3
Median :8 Median :6
Mean :8 Mean :5
3rd Qu.:8 3rd Qu.:8
Max. :8 Max. :8
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> plot(d$x, d$y, pch = c(21, 19) [d$f])
> legend("topleft", legend = c("C", "T"), pch = c(21, 19))
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0000000000000 (:000000e.g. 2z = f1 + Boxi)
1

, = logistic(z;) = ———
0 = g ela) = ()
> logistic <- function(z) 1 / (1 + exp(-z)) # DODOOO
> z <- seq(-6, 6, 0.1)
> plot(z, logistic(z), type = "1")
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logit link function

o logistic O O
1

1+ exp(—(B1 + Bax))

q= = logistic(B; + fox)

o logit OO

logit(q) = log 7—— = 1 + Bz

logit O logistic O O O O O logistic O logit 0 0O OO

logit is the inverse function of logistic function, vice versa
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> glm(cbind(y, N - y) ~ x + £, data = d, family = binomial)

Coefficients:
(Intercept) X fT
-19.536 1.952 2.022
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RO data.frame: 00 Area, 000 x, 000 y

> load("d2.RData")
> head(d, 8) # 00O 8 O00OO0O

Area x y
1 0.017249 0.5 0
2 1.217732 0.3 1
3 0.208422 0.4 0
4 2.256265 0.1 0
5 0.794061 0.7 1
6 0.396763 0.1 1
7 1.428059 0.6 1
8 0.791420 0.3 1
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> plot(d$Area, d$y, cex = d$x * 2)
O

ooooooooboooooogoog?

kubostat2014e (http://goo.gl/2QNwgl) 000000000 2014 (e) 2014-10-01 33/ 42



http://goo.gl/2QNwgl

D00000 0000000000

0.0 1.0 2.0 3.0
dSArea

e JUODDOUOO yOOODODO x OO
e JUDODDOO x0OD0ODOODO

kubostat2014e (http://goo.gl/2QNwgl) 000000000 2014 (e) 2014-10-01 34 /42



http://goo.gl/2QNwgl

D0000 =00 xO00000

1. 000000000 OO0 N;OODODO
goooooooood:

2. 000 ;000 A;00000 00000

0.0 1.0 2.0 3.0

Uz 00000 ' "~ dSArea

A = Ajexp(fy + Box;)

ood )\i :exp(ﬁl +62$1+1Og(141)) ooooa
log(\;) = 1+ Bex; +1og(A;) 0D 0OUDOODOD0ODOOOOO

0000 log(A;) O offset 0OOO (OO gO0O0)

kubostat2014e (http://goo.gl/2QNwgl) 000000000 2014 (e) 2014-10-01 35/ 42


http://goo.gl/2QNwgl

OO0000 GLM OOODOOOO!

link U 0: "log"
e JOODO 1y ™ x

family: poisson, [J U 0[O s

offset U OO : log(Area)

0.0 1.0 2.0
dSArea

o D000O z=p1+ P2 x+ log(Area)
a,b0000000O00O0OO0OO

o 0D0D0D00DD ADODDO log\) = 2
000 X=exp(z) =exp(fi + P2 x+ log(Area))

o JUODOO ODODO NODQOOUODOODOOO:

kubostat2014e (http://goo.gl/2QNwgl) 000000000 2014 (e) 2014-10-01

36 / 42


http://goo.gl/2QNwgl

glm() OOOOO

faRZBNT 23T o b LR

Fit) <- (@lmX T mmstokE
v ~ X,
family = poission(link = "log")
data = 4,
offset = log(Area)
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RO glnO)ODOOO0O0D0OOO

> fit <- glm(y ~ x, family = poisson(link = "log"), data = d,
offset = log(Area))
> print (summary(fit))

Call:
glm(formula = y ~ x, family = poisson(link = "log"), data = d,
offset = log(Area))

(...0..0
Coefficients:

Estimate Std. Error z value Pr(>|zl)
(Intercept) 0.321 0.160 2.01 0.044
X 1.090 0.227 4.80 1.6e-06
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Generalized Linear Mixed Model (GLMM)
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